MR —REZVRELSBEHIRRICE TR B REREHR

EHERSHSESA7HA)

#7E . HORIBA PA—1000
Bf\i: 4 Sv/h BIES:100cm

= FE1dhm () | 2t R (R) | E3M A (7)) | 4k R (F8) |H5HR (BE)
HBITE B Z 15:07 14:53 14:45 14:36 15:18
BITE B 0.059 0.049 0.047 0.073 0.056
ATE L 0.000 -0.006 -0.006 0.001 0.000
EEB-SM54E8A148(RA)

= FE1dhm () | FE2tth R (R) | E3M A (7)) | 4k R (F8) [HE5HR (BE)
I B 15:05 14:54 14:45 14:35 15:18
BITE B 0.056 0.055 0.048 0.063 0.051
ATE L -0.003 0.006 0.001 -0.010 -0.005
EEB-SM548A218(A)

= FE1dhm () | 2t R (R) | E3M A (7)) | 4k R (F8) [H5HR (BE)
B TE B %I 15:12 15:00 14:53 14:42 15:22
HBITE B 0.057 0.057 0.041 0.067 0.057
ATE L 0.001 0.002 -0.007 0.004 0.006
EiEB-5M548HA28H(A)

= FE1dhm () | 2t R (R) | E3M A (7)) | 4k R (F8) [H5HR (BE)
I B 15:08 14:57 14:49 14:38 15:20
HBITE B 0.066 0.052 0.049 0.065 0.057
ATE L 0.009 -0.005 0.008 -0.002 0.000




EiEBRM5E7A3BA)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:06 14:53 14:45 14:34 15:17
BIEE 0.055 0.048 0.053 0.068 0.049
ATEEE 0.003 -0.006 0.007 -0.003 -0.010
EER:SF5578108(R)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:08 14:55 14:47 14:36 15:20
HIE & 0.053 0.049 0.052 0.076 0.053
ATE EE -0.002 0.001 -0.001 0.008 0.004
EEBSF5E7H 1880

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 14:55 14:46 14:36 15:20
HIEE 0.053 0.052 0.050 0.067 0.057
ATEEE 0.000 0.003 -0.002 -0.009 0.004
EHER: S 55F7RA248(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:08 14:56 14:49 14:37 15:21
HIE B 0.058 0.052 0.047 0.072 0.054
AT[E LE 0.005 0.000 -0.003 0.005 -0.003
EEB:Sf5%E7H8318(R)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:05 14:54 14:45 14:35 15:17
HITE B 0.059 0.055 0.053 0.072 0.056
ATEEE 0.001 0.003 0.006 0.000 0.002




ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

Bifsi: ySv/h HFE S :100cm

EER:5M5E6A58(A)

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:06 14:54 14:45 14:35 15:18
BIEE 0.059 0.049 0.047 0.073 0.055
ATEEE -0.006 -0.005 -0.009 0.007 -0.002
EHER: S 5E6RA1280(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:08 14:54 14:45 14:35 15:20
HIE & 0.060 0.053 0.047 0.085 0.058
ATE EE 0.001 0.004 0.000 0.012 0.003
EERSf5%56H8198(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:13 15:00 14:52 14:45 15:24
HIEE 0.053 0.050 0.049 0.072 0.050
ATEEE -0.007 -0.003 0.002 -0.013 -0.008
EHER:SF5E6 270N

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:50 14:42 14:33 15:15
HIE B 0.052 0.054 0.046 0.071 0.059
AT[E LE -0.001 0.004 -0.003 -0.001 0.009




EEBRMSESAT1BA)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:05 14:54 14:45 14:35 15:16
BIEE 0.059 0.047 0.054 0.066 0.056
ATEEE 0.002 -0.003 0.005 -0.001 0.001
EB-SHM5E588H((A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:07 14:55 14:46 14:37 15:20
HIE & 0.052 0.052 0.048 0.073 0.054
ATE EE -0.007 0.005 -0.006 0.007 -0.002
EER-Sf5%558158(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:05 14:50 14:42 14:34 15:16
HIEE 0.064 0.057 0.051 0.069 0.057
ATEEE 0.012 0.005 0.003 -0.004 0.003
EHER:SH5FE58220(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:07 14:56 14:45 14:36 15:20
HIE B 0.055 0.052 0.050 0.067 0.050
AT[E LE -0.009 -0.005 -0.001 -0.002 -0.007
EEB:Sf5%E58298(R)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:05 14:52 14:43 14:34 15:16
HITE B 0.065 0.054 0.056 0.066 0.057
ATEEE 0.010 0.002 0.006 -0.001 0.007




EiEBRM5E4A3B(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

Bifsi: ySv/h HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:05 14:52 14:43 14:33 15:18
BIEE 0.057 0.051 0.046 0.070 0.058
ATEEE -0.003 0.000 -0.004 -0.004 0.000
EER:$F5%F48108(R)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:08 14:55 14:46 13:36 15:20
HIE & 0.059 0.051 0.056 0.085 0.057
ATE EE 0.002 0.000 0.010 0.015 -0.001
EEBSf5%F4/8178(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:07 14:55 14:46 14:35 15:19
HIEE 0.058 0.053 0.051 0.071 0.057
ATEEE -0.001 0.002 -0.005 -0.014 0.000
EHER: 55548 248(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:06 14:54 14:45 14:36 15:17
HIE B 0.057 0.050 0.049 0.067 0.055
AT[E LE -0.001 -0.003 -0.002 -0.004 -0.002




